(8%) (24411 A30BE)
< KRR BEEFH RN R >
BEEHK DEFHS nEE | ROE
i HE | A 30 kil ik
1 s 145 39 0 2 104 106 145 0
2 et 24 6 0 2 9 11 17 7
3 EEAXE 485 302 2 6 161 169 471 14
4 ERER 120 56 1 3 58 62 118 2
&5t 774 403 3 13 332 348 751 23
< KRREREBEEFERLIBRK R >
BE® REAHS mEE | xuE
e HE | BN =5 a&f ik
1| XHEK 5 2 2 1 3 5 0
2 | 6 2 2 2 4 6 0
3 ITHERX 2 1 1 2 2 0
4 | BHERX 8 2 1 3 2 6 8 0
5 |EEX 7 1 3 3 6 7 0
[ EA=3 7 1 6 7 7 0
7 [FIRX 3 1 2 3 3 0
8 IR 5 1 4 5 5 0
9 |EfaX 5 3 2 2 5 0
10 [BIRK 3 1 1 2 2 1
1 |HEX 3 2 2 2 1
12 [KHK 14 3 2 8 10 13 1
13 | &IIX 1 1 1 1 0
14 |FEmH 4 4 4 4 0
15 [J1lgH 14 3 1 10 11 14 0
16 |HEM 11 2 2 5 9 9 2
17 _[EH%E 1 1 0 1 0
18 [fHE 33 2 2 2 21 25 27 6
19 [=F8 1 1 0 1 0
20 |mBAdTE 3 3 3 3 0
21 | KPR 47 8 1 5 31 37 45 2
22 | 7 1 6 6 7 0
23 |Zhh 3 1 2 2 3 0
24 [=rOth 1 0 0 1 0 1 1 0
25 |)\Eh 11 2 3 6 9 11 0
26 |HAMRT 5 1 4 5 5 0
21 _|fET 5 1 4 5 5 0
28 |Eigth 34 6 4 24 28 34 0
29 |E®H 5 1 3 4 4 1
30 |dehmm 28 4 1 2 21 24 28 0
31 | KEHT 50 23 2 4 17 23 46 4
=) it 332 65 18 35 196 249 314 18
< BiRBRAREE B KRNI R >
IBED:
W |EEE REFHE wEE | wnm
X/\ e \( s 4 Kpr = s
X5 “# RTIF P R — s HEE H#
R iE 48 5 1 10 22 33 38 10
i KEXREHOBIE LY 15 0 2 1 10 13 13 2
e B Hmf 4 1 0 0 0 0 1 3
F | VFEAMRERE 3 0 0 0 1(1) 1(1) 1(1) 2
ZNDh 2 0 0 0 2 2 2 0
INEL 72 6 3 11 35(1) 49(1) 55(1) 17
KR R iE 34 1 1 3 21(3) 25(3) 26(3) 8
e | SERREMOBIS 29 0 1 1 21(1) 23(1) 23(1) 6
& 4; ARkt 4 0 0 0 0 0 0 4
Az VEAMKEEE 2 0 0 0 0 0 0 2
Lo ZNDHh 2 0 0 0 2 2 2 0
#4 INEF 71 1 2 4 44(4) 50(4) 51(4) 20
&Et 143 7 5 15 79(5) 99(5) 106(5) 37
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